1. Let f(r) = &=3.

a) Find the domain, the intercepts, and the asymptotes of f (z).
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h) Fmd the local extrema (if any) and determine the intervals where the func-
tion increases or decreases.
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¢) Find the inflection points (if any) and determine the intervals of concavity.
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d) Sketch the graph of f(x). ?




2. (a) Evaluate the limit: ‘l_iin;ez(Z tan~'z — 7). w.o
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(b) Evaluate the limit: lun vz
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3. (a) Use a suitable linearization to find an approximate value of sin 33°,
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(b) Find the nth order Maclaurin polynomial P, for =
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4. (a) The area of a rectangle is increasing at rate of 5m?/s while t.he 1e_ngth i8
increasing at a rate of 10m/s. If the length is 20m and the width is 16m,

how fast is the width changing?
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(b) Among all isosceles triangles of given perimeter, show that the equilateral
triangle has the greatest area.
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